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1. How many such pairs of digits are there in number ‘36725918’ each of which has as many digits
between them in the number as when the digits are arranged in descending order within the numbers ?
(A) None

(B) One

(C) Two

(D) Three

(E) More than three

Ans : (C)

2. What should come next in the following number series?6881268612368812346 23
5687

(A) 6

(B)1

(C)4

(D)8

(E) None of these

Ans : (D)

3. In a certain code PAGE is written as ‘3%7@’, SORE is written as 8©9 '?EAS' written in that
code ?

(A) 3@©8

(B) 3@%9

(C) 3@%8

(D) 3% @8

(E) None of these

Ans : (C)

4. If ‘@’ means %, ‘©’ means ‘+', ‘%’ mea
(A) 37

(B) 35

(C) 39

(D) 33

(E) None of these
Ans : (B)

5. In a certain code ‘MOUSE’ is wri as ‘PRUQC'. How is ‘SHIFT’ written in that code ?
(A) VKIRD 2

(B) VKIDR
(C) VIIDR
(D) VIKRD
(E) None

ans ~ then ......... 6%1203@8%3="?

\ 4

(C) Two

(D) Three

(E) More than three

Ans : (B)

7. Among A, B, C, D and E each scoring different marks in a test, C scored more than D but not as much
as E. E scored more than A who scored less than B. Who score third highest marks ?
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(A)B

(B) A

(o)

(D) Data inadequate

(E) None of these

Ans : (D)

8. ‘K’ walked 5 metre towards North, took a left turn and walked for 10 metre. He then took far he is
from the starting point ?

(A) 20 metre

(B) 15 metre

(C) 25 metre

(D) 30 metre

(E) None of these

Ans : (C)

9. Pointing to a girl, Mr. Suraj said “she is the only daughter of my father’s son-in-
related to Mr. Suraj ? ¢
(A) Niece

(B) Cousin

(C) Sister

(D) Daughter

(E) Cannot be determined
Ans : (A) @

10. Sneha correctly remembers that her father’s birthda efore 16th June but after 11th June
whereas her younger brother correctly remembersthat their father’s birthday is after 13th June but
before 18th June and her elder brother c embers that their father’s birthday is on an even
date. On what date in June is definitely their irthday ?

(A) Sixteenth

(B) Twelfth

(C) Fourteenth or Sixteenth
(D) Data inadequate

(E) None of these

Ans : (E)

11. How many such digi thée inthe number ‘37152869’ each of which is as far away from the
beginning of the numb en the digits are arranged in ascending order within the number ?
(A) None

(B) One

7

ow is the girl

\ 4

12. Ho any such pairs of letters are there in the word ‘CONFIRM’ each of which has asmany letters
between them in the word as in the English alphabet ?

(A) None

(B) One

(C) Two

(D) Three

(E) More than three

Ans : (C)

https://frecruitmentindia.in/previous-papers/
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13. ‘KN’ is related to ‘QT’ in the same way as ‘DG’ related to ..........

(A)IN

(B) IM

(C)Im

(D) IN

(E) IL

Ans : (C)

Directions—(Q. 14-16) Following questions are based on the five three-digit numbers given belo
518 849 365 783 291

14. If the positions of first and third digits in each number are interchanged, which of t will
be the second digit of third highest number ?

(A)1

(B)4

(c)8

(D)9

(E)6 ¢
Ans : (E)

15. If the first digit in all the numbers starting with an even digitd
then which of the following will be the sum of the first digit
numbers ?

(A) 4

(B)8

(c)7

(D)6 K
(E) 13
Ans : (E)

16. If the positions of the first and the second digits in each nhumber are interchanged, which of the
following will be the second‘i stinum ?

(A) 849

(B) 365 \
(C) 783

(D) 291 L 2

(E) 518

d by a number preceding it,
ulting highest and the lowest

Ans : (C)
Direction . Study the following arrangement carefully and answer the questions given below.
Q9K#P ACKXGOUM7FIV%4Z8Y

17.If umbers are dropped from the above arrangement, which of the following will be the
rom the right end ?

18. Which of the following is the sixth to the left of the fifth to the left of 'V’ ?
(A)3
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(B) A

(C)N

(D) s

(E) None of these

Ans : (D)

19. Which of the following is the eighth to the right of the fourteenth from the left end of the above
arrangement ?

(A)V

(B)4

(C) %

(D) E

(E) None of these

Ans : (C)

20. Four of the following five are alike in a certain way based on their positions inthe above
arrangement and so form a group. Which is the one that does not belong to that
(A) IM%

(B) CNG ¢
(C) 3#N

(D) UGC

(E) GAU

Ans : (D)

21. How many such symbols are there in above arrafge ch of which is immediately preceded by
an alphabet and immediately followed by a numbe

(A) None
(B) One
(C) Two Q

(D) Three

(E) More than three
Ans : (C) ¢
22. How many such vowels are there,in the above arrangement, each of which is immediately
(A) None 2

(B) One
(C) Three
(D) Two

. 23-28) In each of the questions below are given four statements followed by three
conclusions numbered |, Il and Ill. You have to take the given statements to be true even if they seem to
be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusions logically follows from the given statements disregarding commonly known facts.

23. Statements

All coins are glasses.
Some glasses are cups.
Some cups are boxes.
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All boxes are pins.
Conclusions :

I. Some coins are cups.
Il. Some pins are glasses.
Ill. Some cups are pins.
(A) None follows

(B) Only I follows

(C) Only Il follows

(D) Only Il and 11l follow
(E) None of these

Ans : (C)

24. Statements :

Some pens are pencils.

All pencils are caps.

All caps are buses. ¢
Some buses are trains.
Conclusions :

I. Some trains are caps.

Il. Some pens are buses.
lll. Some pencils are trains.
(A) Only | follows

(B) Only Ii follows

(C) Only I and IlI follow

(D) None follow K
(E) All 1, Il 'and 11l follow
Ans : (B) 0

25. Statements :

All shirts are skirts.
All skirts are banks.
All banks are roads.
All roads are brushes.
Conclusions :

I follow
(D) All T;Wand Il follow
(E) None follows

Ans : (B)

26. Statements

Some fishes are plates.
Some plates are spoons.
Some spoons are plants.
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All plants are crows.
Conclusions :

I. Some plates are crows.
Il. Some crows are spoons.
Ill. Some plants are spoons.
(A) Only | follows

(B) Only I and Il follow

(C) None follows

(D) Only Il and IlI follow
(E) Either | or Il follows
Ans : (D)

27. Statements :

Some eggs are hens.

Some hens are ducks.

All ducks are pigeons. ¢
All pigeons are sparrows.
Conclusions :

I. All ducks are sparrows.

Il. No egg is duck.

Ill. Some sparrows are hens.
(A) Only | follows

(B) Only I and Il follow

(C) Only Il follows

(D) Only I and Ill follow K
(E) All 1, Il 'and Ill follow
Ans : (D) 0

28. Statements :
No man is tiger.

No tiger is cat.
Some cats are lions.
Some lions are tigers. L 2
Conclusions :

I. Some tigers ar

(E) Only Il and Ill follow
Ans : (A)

Directions—(Q. 29-33) In the following questions, the symbols @, ©, $, % and * are used with the
following meaning as illustrated below—

‘P © Q' means P is not smaller than Q

‘P * Q' means P is not greater than Q
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‘P @ Q' means P is neither greater than nor smaller than Q
‘P $ Q' means P is neither smaller than nor equal to Q
‘P % Q' means P is neither greater than nor equal to Q

Now in each of the following questions assuming the given statements to be true, find which of the
conclusions |, I, Il and IV given below them is/are definitely true and give your answers accordingly.

29. Statements :
KOLL%O,0@M, M*N
Conclusions: . N© O
.MSL

. K*N

IV.L@N

(A) Only Il is true

(B) Only | and Il are true

(C) Only I is true ¢
(D) Either | or Il is true

(E) None is true

Ans : (B)

30. Statements :

A*B BS$C,C%D,DOE
Conclusions: I.DS A
I.BSD

LE%C K
IV.A@E
(A) Only | is ture 0

(B) Only either | or Il is true
(C) Only | and IV are true
(D) None is true

(E) Only IV is true

Ans : (D)

¢

31. Statements :
FSP,P@RRO®
Conclusions :
I.S*P

( nd Il are true
nd Il are true
(C) Only lll and IV are true
(D) Only |, Il and IV are true
(E) All are true

Ans : (D)

32. Statements :
G%H H*|,I1SJ),l@K
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Conclusions : . G % |

1.G%J

n.Ks1

IV.H*)J

(A) Only lis true

(B) Only Il is true

(C) Only I, Il and Il are true

(D) Only either | or Il and Ill are true
(E) All are true

Ans : (A)

33. Statements
V@W,W%X,X*Y,YSZ
Conclusions : 1. Z S X
Lyov

. W%Y

V.Y@W ¢
(A) Only | and Ill are true
(B) Only Il is true

(C) Only Il is true

(D) None is true

(E) Only lll and IV are true
Ans : (C)

Directions—(Q. 34—40) Study the followin
below.A, B, C, D, E, F, G and H are sitting aro
is fifth to right of E. D is third to the rig
of H who is not immediate neighbour o

ion‘carefully and answer the questions given
facing the centre. C is fourth to the left of F who
is not immediate neighbour of E of F. B is third to left

34. Four of the following five’ ertain way based on their positions in the above sitting
arrangement and so form a gro h is the one that does not belong to that group ?

(A) HFE

(B) DCG 2

(C) BHF

(D) AEF

(E) CGB

Ans : (D)

35. is between D and E ?
(

(8)B

(C)A

(D) Data inadequate

(E) None of these

Ans : (B)

36. Which of the following pairs are sitting between A and D ?
(A) FB
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(B) GB
(C) FG
(D) FE
(E) GE
Ans : (C)

37. Who is third to the right of E ?
(A)B
(B) F
(D

(D)G

(E) None of these

Ans : (E)

38. Who is to the immediate right of A ?

(A) G
(B) B ¢
(C)F

(D) Data inadequate
(E) None of these

Ans : (A)
39. What is D’s position with respect to B ? @

(a) Immediate right

(b) Fourth to the right
(c) Third to the left
(d) Immediate left 0

(A) Only (a)

(B) Only (b)

(C) Only (b) and (c)

(D) Only (d)

(E) Only either (a) or (d)
Ans : (D) L 2

40. In which of thefo g pairs is the first person sitting to the immediate left of the second person ?
(A) CH

(B) GA

(C)BD

(D) F

( of these

Ans : (

1. If ‘M’ denotes ‘+’, ‘N’ denotes ‘+’, ‘R’ denotes ‘~’ and Q denotes ‘X’ then—15M 12 Q5R40N8 =7
(A) 70

(8) 130

(C) 45

(D) 60
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(E) None of these
Ans : (A)

2. How many meaningful English words can be formed using the third, fifth, ninth and eleventh letters of
the word ‘COMMANDMENT’ using each letter only once ?

(A) None

(B) One

(C) Two

(D) Three

(E) More than three

Ans : (E)

3. Seema correctly remembers that she took leave after 21st October and before . Her
colleague Rita took leave on 23rd October but Seema was present on that day. I1fi24th O¢ctober was a
public holiday and 26th October was Sunday, on which day in October did Seema ave ?

(A) 22nd October ¢

(B) 25th October

(C) 22nd or 25th October
(D) Data Inadequate

(E) None of these

Ans : (C)

Directions—(Q. 4 and 5) The following questions ar ~ e five three |letter words given
below—PUN SAD CRY FOE STYIf each of the words isisearranged in alphabetical order then—

4. If it is possible to make only one meani i rd using each letter only once, from the first
letters of each of the five words after the let of each word are rearranged in alphabetical order, the
last letter of that word is your answer. | ret one word can be formed, ‘X’ is the answer and if no
such word can be formed then ‘W’ isithe\answer.

(A)E

(B)N A4

() X

(D) W

(E)S 4

Ans : (C)

5. How many will remain unchanged even after their rearrangement in alphabetical order ?

6. How many pairs of letters are there in the word ‘VERIFIED’ each of which has as many letters between
them in the word as in the English alphabet ?

(A) None

(B) One

(C) Two
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(D) Three
(E) More than three
Ans : (C)

7. The fare paying capacity of people who travel on routes connecting to small towns is very low. Most
successful airlines which operate in such regions have a large number of seats.

Which of the following can be inferred from the above information ?

(A) Regional airlines are quite profitable.

(B) People from cities are increasingly travelling to small towns.

(C) Regional airlines have to charge low fares in order to be profitable.

(D) The number of people travelling from small towns to cities is massive.

(E) None of these

Ans : (C)

8. If ‘A xD’ means ‘A is the sister of D’, ‘A + D’ means ‘D is the daughter of A’ and * eans ‘A is the
mother of D’, then how will N is the aunt of M be denoted ? ¢

(A)YM + L xN

(B)M=L+N

(C)LxN +M

(D) N xL+ M

(E) None of these

Ans : (D)

9. M earns more than X and less than T. V earns more,than M and T. R earns more than only X. Who
earns the least among the five of them ?
(A) X

(B)V
(Cm
(D) Cannot be determined

(E) None of these ¢
Ans : (A)

10. The Court has sta ceeﬁng gainst the stockbroker. He can now return to the country. Which

of the following c

(A) The stockbro
(B) The polic arrest the stockbroker.
(C) The j bribed.

Directions—(Q. 11-15) Read the following passage carefully and answer the questions given below it.

A, B,C, D, E, F, G and H are sitting around a circular table, facing the centre. A sits third to the left of C
and second to the right of E. B sits second to the right of D who is not an immediate neighbour of E. H
sits second to the left of F. G is not an immediate neighbour of D.
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11. Which of the following pairs has only one person sitting-between them, if the counting is done in
clockwise direction ?

(A)F, G

(B)H, G

(COH,C

(D)H, B

(E) None of these

Ans : (B)

12. Who sits third to the right of E ?

(A)D

(B)G

(O F

(D)B

(E) None of these

Ans : (C) ¢

13. What is the position of G with respect to A’s position ?
(A) Immediately to the right

(B) Second to the left

(C) Third to the right

(D) Third to the left

(E) Fourth to the right

Ans : (D)

14. Who sits between E and A ?
(A)F < : l

(B)D
(C)G
(D)B A4
(E) None of these
Ans : (E)
L 4
15. Starting from p if all the eight are arranged in alphabetical order in clockwise direction,
the seating positi many members (excluding A) would remain unchanged ?
(A) None
(B) One
(C) Two
(O)T
(
Ans : (

4

Directions—(Q. 16~23) In each of the questions below are given four statements followed by four
conclusions numbered |, Il, lll and IV. You have to take the given statements to be true even if they seem
to be at variance with commonly known facts. Read all the conclusions and then decide which of the
given conclusions logically follows from the given statements disregarding commonly known facts.

16. Statements :
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Some stoves are ovens.

All ovens are cylinders.
Some engines are stoves.
Some metals are cylinders.
Conclusions :

|. Some ovens are metals

Il. Some cylinders are stoves
Ill. Some ovens are engines
IV. No engine is a cylinder
(A) None follows

(B) Only Il and IV follow

(C) Only Il and Ill follow

(D) Only Il follows

(E) Only 1l follows

Ans : (E)

17. Statements :

Some cars are buses.

Some buses are trains.

All airplanes are trains.

All trucks are buses.
Conclusions :

|. Some airplanes are trucks.
Il. Some cars are trains.

Ill. Some trucks are airplanes. K
IV. No truck is train.
(A) None follows < :

(B) Only Il and IV follow

(C) Only Ill and IV follow

(D) Only I and Il follow ¢
(E) None of these

Ans : (A)

18. Statements
Some tools are h

Ill. Some hammers are trees.

IV. Some flowers are tools.

(A) None follows

(B) Only I and either Il or IV follow
(C) Only Il and IV follow

(D) Only Ill follows

(E) None of these
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Ans : (E)

19. Statements :

Some bags are pockets.
Some pockets are trousers.
All skirts are pockets.

Some belts are bags.
Conclusions :

I. Some trousers are belts.
Il. Some skirts are bags.

Ill. No trouser is belt.

IV. Some skirts are trousers.
(A) All follow

(B) Only Il and IV follows

(C) Only Il follows

(D) Only either | or Ill follows ¢
(E) None of these

Ans : (D)

20. Statements :
Some cats are tigers.
All lions are cats.
Some horses are lions.
All horses are animals.

Conclusions : K
I. Some lions are tigers.
Il. No horse is tiger. < :

lll. Some horses are cats.
IV. Some horses are tigers.
(A) None follows

(B) Only Il follows

(C) Only Il and IV foliow
(D) Only Ill and eitherdhor follGw
(E) None of these

¢

Ans : (D)

21. State

Some clocks a dios
No radioni

S are clocks.
Some clocks are laptops.

Conclusions :

I. Some fridges are laptops.

Il. No radio is fridge.

lll. Laptops are either fridges or clocks.
IV. No laptop is fridge.

(A) Only Il follows

(B) Only IV follows
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(C) Only either | or IV follows
(D) Only Il follows

(E) None of these

Ans : (C)

22. Statements

Some notes are coins.
Some papers are plastics.
All coins are papers.

No note is cardboard.
Conclusions :

I. Some notes are papers.
Il. Some coins are plastics.
Ill. No paper is cardboard.
IV. No note is plastic.

(A) Only | follows Y
(B) Only | and Il follow

(C) Only I and Il follow
(D) All follow

(E) None of these

Ans : (A)

23. Statements :
All stools are desks.

No desk is shelf. K
All shelves are cupboards.
Some cupboards are mirrors. < :

Conclusions :

I. No mirror is shelf.

Il. No stool is shelf.

Ill. No cupboard is desk.
IV. No mirror is desk.
(A) None follows L 2
(B) Only Il and Ill follo

¢

. 24-28) Study the following arrangement carefully and answer the questions given
below ?2DB7A4*96ST+NS@VEWH#USBFO 3

24. How many such prime numbers are there in the given arrangement each of which is immediately
followed by a symbol and preceded by a consonant ?

(A) None

(B) One

(C) Two

(D) Three
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(E) More than three
Ans : (B)

25. If the places of the symbols are interchanged with those of the numbers immediately following them
in the given arrangement then which of the following will be the eleventh from the right end ?

(A)V

(B) @

(@5

(D)N

(E) None of these

Ans : (C)

26. Which of the following is the seventh letter to the left of # ?

(A) A

(B)N

T

(D)B ¢
(E) None of these

Ans : (D)

27. What should come in place of the question mark (?) i owing series based on the above
arrangement ?

27B469TS5N?

(A)@ WE

(B)SEV K
(CVU#
(D) V #W Q

(E) None of these
Ans : (D

(D) .
28. If the symbols and numbers ped from the given arrangement and then the letters are
rearranged in alphabeticalorder h of the following will be the sixth from the left end ?
(A) M L 2
(B) F
(ON
(D)E
(E) None

. 29-33) Below in each question are given two statements (I) and (). These statements
may be either independent causes or may be effects of independent causes or a common
cause.Othesestatements may be the effect of the other statement. Read both the statements and then
decide which of thefollowing answer choice correctly depicts the relationship between these two
statements. Mark answer—

(A) If statement | is the cause and statement |l is its effect.

(B) If statement Il is the cause and statement | is its effect.

(C) if both statements | and Il are independent causes.

(D) if both statements | and Il are effects of independent causes.
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(E) if both statements | and Il are effects of some common causes.

29. I. There has been mass recruitment of IT professionals by Indian IT companies
Il. Many developed countries are increasingly outsourcing IT related functions to India and China.
Ans : (B)

30. I. Many farmers have given up jute cultivation as it is no longer economically viable.
Il. The textile ministry has proposed a hike in the Minimum Support Price of jute.
Ans : (A)

31. I. The government is considering changes in the Land Acquisition Act.
Il. Several large infrastructure development projects have been stalled due to unavaila @ and.

Ans : (E)

32. |. The Government is considering the possibility of involving private sector co ies in highway
construction projects. *

Il. The implementation of many highway projects undertaken by gover encies is behind
schedule in various states.

Ans : (B)

33. I. The price of aircraft fuel has risen during the past fe S.

Il. Many passenger airlines in India have been forced to fares by about 10 per cent.

Ans : (D)

Directions—(Q. 34-40) In each question b e roup of letters followed by four combinations
of digits/symbols lettered (A), (B), (C) and (D u have to find out which of the combinations correctly
represents the group of letters based o co system and mark the letter of that combination as

your answer. If none of the combinations, correctly represents the group of letters, mark (E) i.e., ‘None
of these’ as your answer.

Letter : A4

WRAPGBMUSEFTND

Digit/Symbol Codes : \

$8127#9@?5b4 \ 4

Conditions :

l. If the middle letter wel, the codes for the first and the fourth letters are to be interchanged.
II. If the first etters are consonants, the first letter is to be coded, no code may be given to the

second | remaining three letters are to be coded.
I, If the is a vowel and the last letter is a consonant both are to be coded as the code for the

(A) ?51*4

(B) ?514*

(C) 4*15?

(D) 451?

(E) None of these
Ans : (A)
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35. DAEWP—

(A) 61552

(B) $1562

(C) 61525

(D) $265!

(E) None of these
Ans : (B)

36. PEFTG—

(A) 25b42

(B) 2b4G

(C) 25b47

(D) 47b25

(E) None of these
Ans : (C)

37. SMGBE—

(A) ?975#

(B) 97#5?

(C) ?974#5

(D) ?#79?

(E) None of these
Ans : (E)

38. UGREN—

(A) *785@

(B) *785*

(C) @785@

(D) @85*

(E) None of these
Ans : (B)

39. RBMFN—
(A) 8#9b4

(B) b*98#

(C) 89b*

(A) 9@54!

(B) 945!
(C)os@!s

(D) 9@4s!

(E) None of these
Ans : (D)

www.jkchrome.com

www.jkchrome.com



20 www.jkchrome.com www.jkchrome.com www.jkchrome.com

Directions-(Q. 41-50) Study the following information carefully and answer the questions which follow—

A bank is disbursing educational loans to meritorious students. Loans will be made available to
applicants who possess the following criteria.

The candidate must—

l. Be a citizen of India

Il. Have secured admission to a post graduate course (Masters or P. G. Diploma) offered by an Indian or
foreign university in India.

Ill. Have secured 60 per cent marks in the entrance examination for the course.

IV. Have security (property/LIC policy) equivalent to the loan amount.

However if the applicant fulfils the above mentioned criteria except—

(1) At (Il) above the case may be referred to the Loan committee.

(2) At (IV) above guarantee of a third party who has an account with the bank ma o

Mark answer

(A) If the loan is to be sanctioned.

(B) If the loan is to be rejected. P

(C) If the loan is to be referred to the loan committee.
(D) If guarantee from an account holder is needed.

(E) If the data provided is inadequate to take a decision.

41. Shruti has secured admission to MNV University in Cheana
management. She obtained 65 per cent in the entrance @

a post-graduate degree in
course. She has an Indian passport.

Ahmedabad. He has an LIC policy equivale amount. He secured 70 per cent in his

graduation and is an Indian citizen.
Ans : (A)

43. Prakash has applied for a st course in IT and Animation which will commence from
January in Kolkata. He has secured admission to the course having obtained 60 per cent in the written
entrance test. His uncle who has antaccount with the bank is willing to stand guarantor.

Ans : (E)
42. Milind has applied and secured admls% raduate degree in advertising at MIC University
nt

Ans : (E) 4
44, Anil is an Indian s graduate who has secured admission for a Masters degree in Computer
Science from igious Indian University. He stood first in the entrance test with 82 per cent marks.

His famil i use their house, which is equivalent in value to the loan amount, as security. He
will stay ncle in Dubai during the course.

45. Nikhil’s part time P.G. Diploma in Management will begin in December. He secured 65 per cent in
the All India entrance exam and has secured admission to a college in Mumbai. He has requested a
transfer for theduration of the course. He has an LIC policy equivalent to the loan amount. Nikhil holds
an Indian passport.

Ans : (A)
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46. Maria secured 75% in the entrance exam to NVT College Pune and has obtained admission. An
Indian national she has the necessary property to offer as security for the loan amount. The duration of
her undergraduate degree course in Computer Applications is 3 years.

Ans : (E)

47. Deepa obtained 70 per cent in her engineering entrance exam for her Masters and has secured

admission to the college of her choice. She has an LIC policy equivalent in value to the loan amount. Her
interview to obtain a visa for her course in the U.S. is on November 25. She is an Indian citizen.
Ans : (A)

48. Sudhir has applied for a postgraduate degree in Pharmacy at All India Institute at Ne
Indian citizen and having secured 60 per cent in his entrance exam, he has been grante
does not have any property to use as security. His father who has an account wit
guarantee the loan.

Ans : (D)

49. Anandi has secured admission for a P.G. Diploma in Management a ivérsity in Allahabad with
72 per cent in the entrance examination. She has an LIC Policy am i loan amount. She is an
Indian citizen.

Ans : (A)

50. Ravi has obtained admission to the Indian Institute
Mathematics offered only to Indian citizens. He sec
have any security against the loan. However his em

guarantee the loan.
Ans : (D)
1. In a certain code ‘PLANT’ g ri 2*©’ and ‘YIELD' is written as ‘B64@%’. How is ‘DELAY’
written in that code ?
4

earch’at Chandigarh for a Masters in
8 per cent in the entrance test. He does not

(l
er who has an account with the bank is willing to

(A) B4*2%
(B) BA@2%
(C) %42@B
(D) %4@2P
(E) None of t
Ans : (D)

2. Ho meaningful English words can be formed with the letters ARILT using each letter only once

(D) Three
(E) More than three
Ans : (C)

3. D said, “A’s father is the only brother of my sister’s son.” How is A’s father related to D ?
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(A) Cousin

(B) Nephew

(C) Aunt

(D) Data Inadequate
(E) None of these
Ans : (B)

Directions—(Q. 4—6) The following questions are based on the five three digit numbers given
below—394 632 783 576 895

4. If the positions of the first and the second digit within each number are interchange ich'of the
following will be the second highest number ?

(A) 632

(8) 783

(C)576

(D) 895

(E) 394 ¢

Ans : (E)

5. If the first and second digits of each of the humbers are added theyresulting sum of which of the
following numbers will not be exactly divisible by 3 ?

(A) 895

(B) 394

(C)576

(D) 632 K
(E) 783
Ans : (A)

6. If 2 is added to the last digit ach nu and then the positions of the first and the third digits are
interchanged, which of the follew the highest number ?

(A) 576

(B) 895

(C) 783 L 2

(D) 394

(E) 632

Ans : (A)

1, ‘B’ as 3, ‘C’ as 5 and so on, which of the following is the numerical value of the

(E) None of these
Ans : (B)

8. Which of the following pairs of words have the same relationship as FAN : HEAT ?
(A) Water : Drink
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(B) Light : Night
(C) Teach : Student
(D) Air : Breathe
(E) Food : Hunger
Ans : (B)

9. Q types faster than R but not as fast as V.T types faster than R S types faster than V. Who amongst the
five of them types the fastest ?

(A V

(B)T

(€)s

(D) Data Inadequate

(E) None of these

Ans : (D)

10. If ‘B xC' means ‘B, is the daughter of C’, ‘B + C’ means ‘B is the husba C’ aw ‘B—C' means ‘Bis
the sister of C’, then what does ‘M + N — P xQ’ mean ?

(A) M is the brother-in-law of Q

(B) M is the uncle of Q

(C) M is the son-in-law of Q

(D) M is the mother-in-law of Q

(E) None of these

Ans : (C)

Directions—(Q. 11-17) Read the followin a lly and answers the questions given below it—
A group of seven friends, A, B, C, D, E, F and ork a®Economist, Agriculture Officer, IT Officer,
Terminal Operator, Clerk, Forex Officer e ch Analyst, for Banks L, M, N; P, Q, R and S but not

necessarily in the same order. C works for Bank/N and is neither a Research Analyst nor a Clerk. Eisan IT
Officer and works for Bank R Officer and does not work for Bank L or Q. The one who
is an Agriculture Officer wor?s r he one who works for Bank L works as a Terminal Operator.
F works for Bank Q. G works for as a Research Analyst. D is not an Agriculture Officer.

11. Who amongst thedellowing Works'as an Agriculture Officer ?
(A) C
(B)B
(C)F
(D) D
(E) None
Ans :

12. What'is the profession of C ?
(A) Terminal operator

(B) Agriculture Officer

(C) Economist

(D) Cannot be determined

(E) None of these

Ans : (C)
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13. For which Bank does B work ?
(A) M

(B)S

()L

(D) Either M or S

(E) None of these

Ans : (A)

14. What is the profession of the person who works for Bank S ?
(A) Clerk

(B) Agriculture Officer

(C) Terminal Operator

(D) Forex Officer

(E) None of these

Ans : (D)

15. For which Bank does D work ?
(A)Q

(B)L

(N

(D)s

(E) None of these

Ans : (B)

16. Who amongst the following works as ;
(A)C
(B)B

(C)F

(D)D

(E) None of these
Ans : (C)

¢

17. Which of the followi mbihatiohs of person, profession and bank is correct ?
(A) A-Forex Officer,

(B) D-Clerk-L

(C) F-Agricult icer-Q

(D) B-Agricultu er-S

Directions—(Q. 18-23) In each of the questions below are given four statements followed by four
conclusions numbered |, I, [l and IV. You have to take the given statements to be true even if they seem
to be at variance with commonly known facts. Read all the conclusions and then decide which of the
given conclusions logically follows from the given statements disregarding commonly known facts.

18. Statements
Some stones are rocks.
All rocks are boulders.
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Some boulders are mountains.
All hills are mountains.
Conclusions :

|. Some stones are mountains.
Il. Some hills are boulders.

Ill. Some boulders are stones.
IV. All mountains are hills.

(A) None follows

(B) Only Il follows

(C) Only Il and 11l follow

(D) Only Il follows

(E) None of these

Ans : (D)

19. Statements :

All arrows are bows. ¢
All bows are swords.

Some swords are daggers.

All daggers are knives.

Conclusions :

I. All knives are bows.

Il. Some swords are knives.

IIl. All bows are arrows.

IV. All arrows are swords.

(A) Only I follows K
(B) Only Il and IV follow
(C) Only lll and IV follow 0

(D) Only I and Ill follow
(E) None of these .
Ans : (B)

20. Statements :
Some pianos are violi

os are drums.
eisadrum.

(A) None follows

(B) Only | follows

(C) Only either Il or IV follows
(D) Only IV follows

(E) None of these

Ans : (D)
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21. Statements :

Some airplane are helicopters.
All helicopters are gliders.

All gliders are kites.

All kites are balloons.
Conclusions :

I. Some helicopters are balloons.
IIl. All kites are airplanes.

IIl. All balloons are gliders.

IV. All helicopters are kites.
(A) Only IV follows

(B) Only either Il or lll follow
(C) Only Il follows

(D) Only I follows

(E) None of these

Ans : (A) ¢

22, Statements :

All kings are warriors.

All soldiers are warriors.
All sentries are warriors.
Some sentries are soldiers.
Conclusions :

I. Some sentries are kings.

Il. All warriors are soldiers. K
Ill. Some warriors are sentries.
IV. Some soldiers are kings. < :

(A) None follows
(B) Only I follows
(C) Only Il follows
(D) Only Il and 11l follow
(E) None of these
Ans : (E) L 2

¢

23. Statements

Some gla d
Some wo etals
All m

I. Somecloths are wood.

Il. Some woods are both cloths and glasses.
Ill. Some glasses are plastics.

IV. Some cloths are metals.

(A) None follows

(B) All follow

(C) Only Il and IV follow

(D) Only I and Il follow
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(E) None of these
Ans : (B)

Directions—(Q. 24-25) Read the information given below carefully and then answer the questions that
follow. In a certain code language :

l. ‘she likes apples’ is written as ‘pic sip dip’.

II. ‘parrot likes apples lots’ is written as ‘dip pic tif nit’.

Il. ‘she likes parrots’ is written as ‘tif sip dip’.

24. How is ‘parrot’ written in that code language ?
(A) pic

(B) dip

(C) tif

(D) Cannot be determined

(E) None of these

Ans : (C) ¢

25. Which of the following statements is not necessary in order to ove question ?
(A)1

(B) Il

(cm

(D) All are required

(E) Either Il or 1lI
Ans : (B)

Directions—(Q. 26—30) Study the followini arrange t carefully and answer the questions given below

SMP63*SA4LN@ZS5#VUTE TYXG2I&9W

26. Which of the following i§ t e left of the fifteenth from the left end ?
(A)@

(B)S5

(€7 L 2

(D)U

(E) None of these

Ans : (A)

27. How man consonants are there in the above arrangement each of which is immediately
follo n even number and preceded by a symbol ?

(D) Three
(E) More than three
Ans : (A)

28. What should come in place of the question-mark (?) in the following series based on the above
arrangement ?
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PM3ASLZ@#?
(A)UVE

(B)VHE

(C)7uU8

(D)V7#

(E) None of these
Ans : (C)

29. Four of the following five are alike in a certain way based on their position in the above ar me
and hence form a group.Which is the one that does not belong to that group ?

(A)A4 *

(B)TBY

(C)9lw

(D)VsuU

(E)PS6

Ans : (A) ¢

30. How many such numbers are there in the above arrangement ich is immediately followed
by a vowel and immediately preceded by a consonant ?

(A) None

(B) One

(C) Two

(D) Three
(E) More than three
Ans : (B)

Directions—(Q. 31-35) Below in each question given two statements | and Il. These statements may
be either independent causes or may be effects of independent causes or a common cause. One of

these statements may be the e f th er statement. Read both the statements and then decide
which of the following answer ctly depicts the relationship between these two statements.
Mark answer—

(A) if statement | is the caluse and ement |l is its effect.

(B) if statement Il is the,cause arf@ statement | is its effect.

(C) if both statem e independent causes.

(D) if both state Il are effects of independent causes.

| and Il are effects of some common cause.

31.1. The ent has amended tax laws to boost exports.
II. Th sector has been passing through difficult times due to heavy tax burdens.
A

32. 1. Budgetary allocation for building a better railway network e.g. constructing new railway lines has
increased.

Il. There has been a substantial drop in the number of passenger opting for air travel.

Ans : (D)

33.I. The production of pulses has dropped for the third consecutive year.
II. India has decided to import pulses this year.
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Ans : (A)

34. 1. The Bank has provided a link on its website to obtain feed-back from customers.
Il. Customers have been complaining about poor services in the Bank’s branches.
Ans : (B)

35. I. Indian citizens are willing to incur the cost of using environment friendly technology.
Il. Many countries are taking steps to cut their carbon emissions.
Ans : (E)

Directions—(Q. 36—40) Below is given a passange followed by several possible inference
drawn from the facts stated in the passage. You have to examine each inference sepa
context of the passage and decide upon the degree of its truth or falsity. Mark an

(A) if the inference is ‘definitely true’ i.e. it properly follows from the statementsof factS\given.

(B) if the inference is ‘probably true’ though not ‘definitely true’ in the light of the iven.

(C) if the ‘data are inadequate’ i.e. from the facts given you cannot say r tlgdata is likely to be
true or false.

(D) if the inference is ‘probably false’ though not ‘definitely false’ i
(E) if the inference is ‘definitely false’ i.e. it cannot be drawn fr
given facts.

The pace of recruitment has unmistakably picked up in the
the business sentiment has turned positive. A flurry of
manufacturing sector and the IT and ITES sector ca
advent of new players and an aggressive expansion m giants has seen a bullish outlook for the
industry with a promise of exponential gr is worst over for businesses across the spectrum
? Firms are going back to the drawing board dusting off their plans to see if there is scope for atleast
incremental hiring in specific domains where th ant to build expertise. Besides that there are few

signs to show that there is a broad basedyrevival in the market.
36. Companies in various seg $cted higher business growth in the near future.
Ans : (B) \

p

37. The telecom sectophasiexpefienced negative growth in the past few years.

the facts given.
n facts or contradicts the

months. After two abysmal quarters
y has been observed across the

Ans : (D)

38. Many co in the manufacturing sector have decided to reduce their fresh intake of
employe

Ans :

3 ith legal qualifications and expertise will earn more in the future.

40. Most companies across sectors have decided to increase their manpower requirement manifold.
Ans : (A)

Directions—(Q. 41-45) In each question below is given a group of letters followed by four combinations
of digits/symbols lettered (A), (B), (C) and (D). You have to find out which of the combinations correctly
represents the group of letters based on the coding system and mark the letter of that combination as
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your answer. If none of the combinations correctly represents the group of letters, mark (E) i.e. ‘None of
these’ asyour answer.

Letter :

TAGRSDNEVUXP

Digit/Symbol Code :

@49#%30©51PB76

Conditions—

(i) if the first letter is a consonant and the last letter is a vowel only the first letter may be coded

code

may be given to the last letter.

(ii) if both the first and last letters are vowels then both are to be coded as S.

(iii) if the first letter is a vowel and the last letter is a consonant then the codes are to k @ anged.

41, DESGRT

(A) 35%9#

(B) 35%94@ .
(C) @5%9#3

(D) 359%#@

(E) None of these

Ans : (B)

42. NERSPU
(A) @5#%6@
(B) @5#56©

(C) ©54#%6 K
(D) ©5#%6p
(E) None of these 0

Ans : (C)

43. XNTPGA ¢

(A) 70 @694

(B) 7© @964

(C) 40 @69 L 2
(D) 70 @69

(E) None of these

Ans : (D)

(C) 5%
(D) $%10©B 5

(E) None of these
Ans : (A)

45. UXPTGN
(A) ©76@9B
(B) $76@90©
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(C) B 76 @90©

(D) B 76@98B

(E) None of these
Ans : (A)

Directions—(Q. 46-50) In each question below is given a statement followed by two courses of action
numbered | and Il. A course of action is a step or administrative decision to be taken for improvement,
follow-up or further action in regard to the problem, policy etc. On the basis of the information

the statement, you have to assume everything in the statement to be true and then decide w f th
suggested courses of action logically follows for pursuing. Given answer—

(A) if only Course of action | follows.

(B) if only Course of action Il follows.

(C) if either Course of action | or Course of action Il follows.

(D) if neither Course of action | nor Course of action Il follows.

(E) if both courses of action | and Il follow.

46. Statement : An increasing number of graduates produced by Indian rsities are
unemployable.Courses of action :

I. Colleges and Institutes of higher learning should be given gre au my to decide course content.
Il. World class foreign universities should be encouraged to set up puses in India.

Ans : (A)

47. Statement : Heavy rains hit the state during Oc fore the State Assembly elections and
caused heavy damage to standing crops in most pa f the state.

Courses of action
I. Elections should be postponed to give can
II. The Government should announce a réelief p
Ans : (B)

opportunity to campaign.
ge for those who are affected.

48. Statement : Cell phone u? d that tariff plans are not as attractive as promoted by
telecome companies and complaine regulatory authority about the same.

Courses of action :

I. The regulatory auth
all plans.

Il. The governme
Ans : (A)

oul@®direct telecome companies to be transparent on the tariff structure of

s restrict the number of telecome companies operating in the country.

49. Statement “Anumber of school children in the local schools have fallen ill after the consumption of
their idised tiffin provided by the school authority.
C tion :

I. The tiffin facility of all schools should be discontinued with immediate effect.
Il. The government should implement a system to certify the quality of tiffin provided by the school.
Ans : (B)

50. Statement : The dolphin population in India has been decreasing sharply over the past few years.
Courses of action :

I. Dolphins should be declared an endangered species and be bred in aquariums or protected areas.
II. Locals should be enlisted to protect dolphins.
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Ans : (E)
Directions—(Q. 51-60) Study the following information carefully and answer the questions which follow

A Research Institute is recruiting a libration to digitise its information resources among other duties.
Candidates must possess the following criteria. The candidate must :

l. be not less than 35 years and not exceed 40 years as on 01- 11-2009.

Il. have a Bachelor’s Degree in Library and Information Science with 65 per cent marks.

[ll. have a Ph.D. in Library Science.

IV. have post qualification experience of at least 4 years in a University Library.

However if the candidate fulfils the above mentioned criteria except—

(a) at (1) above but the candidates has a UGC NET certification with all the other above @ fulfilled
he/she may be referred to the Dean.

(b) at (IV) above but all the eligibility criteria are met and the candidate has at least onefyear’s

experience in aresearch institute he/ she may be offered contractual appointmen year.

Based on the above criteria study carefully whether the following candi re ?gible for the
recruitment process and mark your answer as follows. You are not to a ything other than the
information provided in each question. All cases are given to you -20009.

Mark answer :

(A) if he/she is to be shortlisted.

(B) if he/she is not to be shortlisted.

(C) if he/she should be referred to the Dean.

(D) if he/she may be offered contractual appointm
(E) if the data provided is inadequate to take a deci

51. Anil Rath has a doctorate in Library Science\from*Karnataka University in 2003. Born on July 21,
1969, he graduated in Library and Informiation nce from Karnataka University where he was
Assistant Librarian for four years sin 5.

Ans : (B) .

52. Dr. Samir Bali has a Ph.D. in
as Assistant Librarian sincgé Octobe
Science in 1994 at th e of 22 ®e
Ans : (D)

aryScience and has been with the Institute of Fundamental Research
08. He graduated with a degree in Library and Information
tained 70 per cent in his graduation.

53. Vaishali S s a librarian at STS University since 2007 when she qualified in the UGC NET

examina a degree in Library and Information Science with 60 per cent. Her first job was as
junior librari RP Institute of Development Research from October 2000 to December 2001.
Ans

54. Vivek'Jha has a Ph.D. in Library and Information Science. He graduated in Library and Information
Science in 1992 with 65 per cent. He was born on 1-10- 1974. Since July 2005, he has been working as
Deputy Librarian at a deemed University.

Ans : (A)

55. A graduate in Library Science with 69 per cent Dr. M. Puri has been working at Ranchi University for
4 years as Deputy Librarian. She earned her doctorate while working for the Labour Research Institute
for 5 years as Assistant Librarian. She is 38 years old as on the required date.



33 www.jkchrome.com www.jkchrome.com www.jkchrome.com

Ans : (A)

56. Megha Vaidya has a graduate degree in Library Science from Punjab University where she has been a
librarian for the past 5 years. In 2002 she obtained her UGC NET qualification at the age of 29. She
obtained 72 per cent graduation.

Ans : (E)

57. Anup Gupta is obtaining his Ph.D. from YCM University where he has been Junior Librarian si
2004. He qualified in the UGC NET exam. in June, 2000. He has a degree in Library and Inform
Science with 62 per cent. His date of birth is 17-10-1973.

Ans : (B)

58. Kirti Shukla obtained her doctorate and Bachelor’s degree from Patna Universit}-Sh ned 63
per cent at graduation. She obtained her UGC NET qualification in 1998 when she was

Ans : (E)

59. Prakash Sinha has been a librarian for a government institution for rs. Prior to this he was a

University Librarian for 7 years after completing his Ph.D. in Librar
68 per cent in Library Science. He is exactly 40 years of age on
Ans : (A)

graduated in 1991 with
d date.

60. Rohan Sachdev obtained his UGC NET qualification graduation in 1998 when he began
working. He has been Assistant Librarian for the pa
per cent in his graduation in Library Science. He ear

birth is 22-10-1974.
Ans : (D)

1. In a certain code SOUTHERN,is UVPTMQDG. How is MARIGOLD written in that code?
(A) JSBCNFKS

(B) JISBNHPME

(C) JSBNCKNF L 2

(D) NBSKCINF
(E) None of these
Ans : (C)

wing five are alike in a certain way and so form a group. Which is the one that does
the group ?

(C) Storm

(D) Hurricane
(E) Cyclone
Ans : (B)

3. How many such pairs of letters are there in the word EVAPORATE each of which has as many letters
between them in the word as in the English alphabet ?
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(A) One

(B) Two

(C) Three

(D) Four

(E) More than four
Ans : (E)

4. How many meaningful four letter English words can be formed with the letters ITED using eac
only once in each word ?

(A) None

(B) One

(C) Two

(D) Three

(E) More than three

Ans : (E)

Directions—(Q. 5-6) Study the following information carefully to answ uestions.

A vehicle starts from point P and runs 10 kms. towards North. | es atight turn and runs 15 kms. It
now runs 6 kms. after taking a left turn. It finally takes a left turn, ruhs 15 kms. and stops at point Q.

5. How far is point Q with respect to point P ?
(A) 16 km
(B) 25 km

(C) 4 km K
(D) 0 km
(E) None of these Q

Ans : (A)

6. Towards which direction v? moving before it stopped at point Q ?
(A) North

(B) East

(C) South 2

(D) West

(E) North-West

Ans : (D)

7. If each'of t nsonants of the word PURCHASED is substituted by the letter preceding it and each
vowe tituted by the letter following it, which of the following letters would have the same letter

(E) None of these
Ans : (B)
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8. If all the letters in the word NEIGHBOURS are rearranged as they appear in the English alphabetical
order, the position of how many letters will remain unchanged after the rearrangement ?

(A) None

(B) One

(C) Two

(D) Three

(E) More than three

Ans : (C)

9. Asha ranks 16th from the top and 15th from the bottom in an examination. How many stidents
there in the class ?

(A) 30

(B) 31

(C)32

(D) Cannot be determined

(E) None of these ¢

Ans : (A)

10. Five students participated in an examination and each scor
than Mamta. Kavita scored lower than Prashant but higher t i. Anil’s score was between Mamta
and Nidhi. Which of the following pairs represents the hi lowest scorers respectively ?

(A) Nidhi, Kavita
(B) Kavita, Mamta
(C) Anil, Kavita

(D) Prashant, Mamta K
(E) None of these
Ans : (D)

Directions—(Q. 11-15) In each of.these q ons a group of letters is given followed by four
combinations of digit/symbol |ett B), (C) and (D). Letters are to be coded as per the scheme
and conditions given
below. You have to find
letter of that combinati
‘None of these’.

t the serial letter of the combination, which represents the |letter group. Serial
yon.’an er. If none of the combinations is correct, your answer is (E) i.e.

Letter :

ERILNAQ FIKTH
Digit/Sy :

*209 £f4@738
Cond

irst'letter is followed by a vowel and the last letter is preceded by a consonant, the last letter is
d as the code for vowel following the first letter.

(ii) If there are no vowels in the group of letters the codes for the fifth letter from the right and the fifth
letter from the left are to be interchanged.

(iii) If the group of letters contains more than one vowel, the codes for both the vowels are to be
interchanged.

11. PNEBII
(A) %6 @EO*
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(B) %6*@£©
(C)%6* 0@

(D) @%£0©6*

(E) None of these
Ans : (A)

12. FABLNK

(A) #4£96#

(B) £4#96#

(C) a#£961#

(D) 49#6#£

(E) None of these
Ans : (C)

13. LPKNJB

(A) 9%£670©

(B) 9©76%£

(C) 9%760©F

(D) 96©7%£

(E) None of these
Ans : (B)

14. DTQKNH

(A) 135768

(B) 137568

(C) 138765

(D) 165783

(E) None of these
Ans : (E)

15. TNAPUB
(A) 36%SHE
(B) 36#%SE
(C) 63#%SE
(D) 36S%#E
(E) None of t
Ans : (D)

16. Statements

Some jeeps are trains.

All trains are buses.
Some boats are jeeps.
Some scooters are buses.

www.jkchrome.com
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Q. 16-20) In each of the questions below are given four statements followed by four

ns numbered |, 11, Il and IV. You have to take the given statements to be true even if they seem
riance from commonly known facts. Read all the conclusions and then decide which of the
given conclusions logically follows from the given statements disregarding commonly known facts.

www.jkchrome.com
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Conclusions :

|. Some scooters are trains.
Il. Some bots are buses.

lll. Some jeeps are scooters.
IV. All buses are trains.

(A) None follows

(B) Only IV follows

(C) Only Il and IV follow
(D) Only Il follows

(E) None of these

Ans : (A)

17. Statements :

All teachers are engineers.

All engineers are cooks.

Some cooks are merchants. ¢
All merchants are poets.
Conclusions :

I. Some cooks are teachers.

Il. Some merchants are engineers.
lll. All cooks are engineers.

IV. Some cooks are poets.

(A) None follows

(B) Only | follows

(C) Only Il and IV follow K
(D) Only I and IV follow
(E) None of these 0

Ans : (D)

18. Statements : ¢
Some tools are hammers.
Some hammers are nails.
All nails are screws. 2
All screws are nut

Conclusions
I. All nuts are
Il. Some

(C) Only Il follows

(D) Only Il and Il follow
(E) None of these

Ans : (E)

19. Statements :
All pens are bags.
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All bags are glasses.

No glass is a spoon.

All spoons are books.
Conclusions :

|. Some glasses are pens.
Il. Some books are bags.
lll. No spoon is a pen.

IV. No bag is a book.

(A) Only Il and Il follow
(B) Only I, lll and either Il or IV follow
(C) Either Il or IV follows
(D) All follow

(E) None of these

Ans : (B)

20. Statements r'S
All petals are flowers.

All thorns are flowers.

Some leaves are thorns.

Some stems are flowers.

Conclusions :

|. Some petals are leaves.

II. All leaves are flowers.

lll. Some stems are petals.

IV. No petal is a leaf. K
(A) None follows
(B) Only Il follows < :

(C) Only Il and either | or IV follow
(D) Only either | or IV foIIowi
(E) None of these

Ans : (D)

Directions—(Q. 21-2 udy thé®ets'of numbers given below and answer the questions, which follow—
129 642921 476 3

21. Which of wing numbers will be obtained if the second digit of the lowest humber is added to

ighest number after adding 4 to each number ?

(E) None of these
Ans : (D)

22. If the digits in each of the five numbers are arranged in descending order, the position of how many
numbers will not change ?

(A) None

(B) One
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(C) Two
(D) Three
(E) Four
Ans : (C)

23. Based upon the given set of numbers, four of the following five are alike in a certain way and so form
a group. Which is the one that does not belong to that group ?

(A) 647

(B) 264

(c)912

(D) 192

(E) 380

Ans : (E)

24. If in each number, the digits are arranged in ascending order, what will be sum dle digits of
each of the numbers ? ¢

(A) 14

(B) 12

(C) 26

(D)9

(E) None of these

Ans : (E)

25. If in each number, the first and the last digits a%rc anged, which will be the second lowest

number ?
(A) 129
(B) 642 “:::;’

(C) 921

(D) 476

(E) 308 A4

Ans : (B)

Directions—(Q. 26-3 ese quéktions are based on the following letter/number/symbol arranement.
Study it carefully a he questions.

@BDS3WA* tHBUNI2T4#755K

26. How mbols are there in the above arrangement each of which is immediately preceded
by a vow immediately followed by a number ?

(D) Three
(E) None of these
Ans : (A)

27. Four of the following are alike in a certain way based upon their positions in the above arrangement
and so form a group. Which is the one that does not belong to that group ?
(A) BD3
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(B) %HU
(C) *v9
(D) T45
(E) S3A
Ans : (D)

28. Which of the following is exactly in the middle of the 17th from the right and 19th from the left end
?

(A) %

(B)H

(C)J

(D) #

(E) None of these

Ans : (B)

29. What should come in the place of the question mark (?) in the followi ries*ased on the above
arrangement ?

*6Q9JH%8NUIT?

(A)N

(B)4

(C)#

(D)7

(E) None of these
Ans : (E)

30. How many consonants are there in the above arrangement each of which is immediately preceded

by a number but not immediately follo y her consonant ?
(A) None
(B) One

(C) Two A

(D) Three

(E) None of these

Ans : (C) L 2

Directions—(Q. y the following information carefully to answer these questions.

A,B,CD are sitting around a circle, facing the centre. F sits to the immediate right of D
and third of A. G sits third to the left of D who does not sit next to E. B sits next to G but not

31. Who'sits to the immediate left of a ?
(A)E

(B)F

(C)G

(D)H

(E) None of these

Ans : (A)
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32. What is the position of H with respect to C ?
(A) Second to the left

(B) First to the right

(C) Third to the right

(D) Second to the right

(E) None of these

Ans : (E)

33. Which of the following pairs sits between G and D ?
(A) AC

(B) CF

(C) HB

(D) FA

(E) None of these

Ans : (C)

34. Starting from A’s position, if all the eight are arranged in alphabetic e 'ngockwise direction,
the seating position of which of the following (excluding A) would

(A)B

(B)C

(C)D

(D) H

(E) None of these
Ans : (B)

35. Four of the following are alike based upon their s€ating arrangement around the circle, which is the
one that does not belong to that group

(A) FH

(B) GE

(C)cD A4

(D) BG

(E) EF

Ans : (D) L 2

Directions—(Q. d the following information carefully and answers the questions which

follow—
‘AxB' m ther of B’
‘A—B'm daughter of B’.

‘A =+ ‘A is wife of B'.
‘Ais son of B'.

36. How is T related to P in the expression P+Q—-R+T ?
(A) Maternal grandmother

(B) Maternal grandfather

(C) Paternal grandmother

(D) Grandson

(E) None of these

Ans : (B)
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37. Which of the following means ‘P is sister of S’ ?

(A)P+Q=+R-S

(B)P+Q=+RxS

(C)PxQ-R+S

(D)P+Q+RxS
(E) None of these
Ans : (E)

R+ Q+ P’ ?[138. How is P related to S in the expression ‘S x
(A) Father

(B) Grandson

(C) Son

(D) Grandfather

(E) None of these

Ans : (A) ¢

R—T ?[139. How is R related to P in the expression ‘P + Q x
(A) Niece

(B) Paternal Uncle

(C) Paternal Aunt

(D) Either (B) or (C)

(E) None of these

Ans : (C)

S’ ?0J40. How is S related to P in the expressi
(A) Nephew
(B) Uncle
(C) Aunt
(D) Either (B) or (C)
(E) None of these
Ans : (D)

L 4
Directions—(Q. 41;45) ing decisions about important questions, it is desirable to be able to
distinguish betw '’ arguments and ‘weak’ arguments. ‘Strong’ arguments must be both
important anddirectly related to the question. ‘Weak’ arguments may not be directly related to the
f minor importance or may be related to the trivial aspects of the question. Each
question ollowed by two arguments numbered | and Il. You have to decide which of the
a ‘strong’ argument and which is a ‘weak’ argument. Give answers—
argument | is strong.
argument Il is strong.
(C) If either argument | or Il is strong.
(D) If neither argument | nor Il is strong.
(E) If both arguments | and |l are strong.

41. Statement : Should the number of holidays given to Govt. employees be reduced to only five in a
year ?
Arguments :
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I. Yes, such holidays subsequently reduce working hours, thus adversely affecting the economy of
nation.

Il. No, employees require intermittent rest from hectic work schedule.

Ans : (B)

42, Statement : Should all correspondence courses at graduate level be stopped ?

Arguments :

I. No, correspondence courses help needy students to persue studies and earn at the same time.
II. Yes, quality education is not possible without teachers and classrooms.

Ans : (E)

43. Statement : Should only nuclear power be used to generate electricity ?
Arguments :

. Yes, this will help reduce air pollution to a great extent.

II. No, Radioactive material used in nuclear plants is unsafe for large scale use.

Ans : (B) ¢

44, Statement : Should the Govt. remove all the slums in major citi

Arguments :

l. Yes, slums are a nuisance to the people living in big cities.

IIl. No inhabitants of slums are also citizens of the countr contribute towards the growth of the
nation.

Ans : (D)

45. Statement : Should cricket replace ho national sport of India.

Arguments :

l. Yes, the performance of hockey team Bas be ismal since last few years.

II. No, cricket is the national sport of, alia and no two countries must have the same national sport.
Ans : (B)

\ 4

Directions—(Q. 46-50) Each of the,questions below consists of a question and two statements
numbered | and |l are givén below it You have to decide whether the data provided in the statements
are sufficient to answ uestion Read both the statements and give answers—

t | alone are sufficient to answer the question, while the data in Statement ||

alone are no icient to answer the question.

(B) If the ment |l alone are sufficient to answer the question, while the data in Statement |
alone are'not ient to answer the question.

(C) If in Statement | alone or in Statement Il alone are sufficient to answer the question.

in both the Statements | and Il are not sufficient to answer the question.
(E) If the'data in both the Statements | and |l together are necessary to answer the question.

46. On which month of the year was Divya born ?

I. Her mother correctly remembers that Divya was born after June and before September.
IIl. Her father correctly remembers that she was born after March and before August.

Ans : (E)

47. What is the code for ‘those’ if in a certain language ‘those lovely red roses’ is written as ‘pe so la ti’ ?



44 www.jkchrome.com www.jkchrome.com www.jkchrome.com

. ‘ni jo ke pe’ means ‘stopped at red light’.
II. ‘ba di ti ga’ means ‘roses are very pretty and ‘fo hi la’ means ‘lovely day outside’.
Ans : (E)

48. What is Sumit’s rank from the top in a class of 50 students ?

I. Ajay is 6 ranks below Sumit and is twenty-ninth from the bottom.
IIl. Ashu is 4 ranks above Sumit and is thirty-fifth from the bottom.
Ans : (C)

49. How many sisters does Mala have ?
I. The only brother of Mala’s father has only one niece.
II. The son of the husband of Mala’s mother has two siblings.

Ans : (D)

50. Who among A, B, C and D is sitting next to A if all the four are sitting in a strai ine facing North ?
I. A does not sit next to D who does not sit next on the extreme right.

Il. None sit to the left of A and on the right of B, while only one person tween C and B.

Ans : (B)

nswer the given questions.

Directions—(Q. 51-55) Study the following information caref

P,Q,R,S, T, Wand Z are seven students studying in thr % institutes — A, B and C. There are
three girls among the seven students who study in each e'three institutes. Two of the seven
students study BCA, two study medicine and one each studies Aviation Technology, Journalism and
MBA. R studies in the same college as P s in college B. No girl studies journalism or MBA.
T studies BCA in college A and his brother dies'Aviation Technology in college C. S studies
journalism in the same college as Q. NeitherR n study BCA. The girl who studies BCA does not study
in college C.

51. Which of the following pg o study medicine ?
(A)Qz

(By wz

(C)pz 4

(D) Sz

(E) None of these

Ans : (E)

52. In whieh c e does Q study ?
(A)A

(

(o)«

(D) Data inadequate

(E) None of these

Ans : (A)

53. In which of the colleges do three of them study ?
(A) A
(B)B
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(C)Aand B

(D) C

(E) None of these
Ans : (A)

54. What is the field of study of Z ?
(A) Aviation Technology

(B) BCA

(C) MBA

(D) Medicines

(E) None of these

Ans : (D)

55. Which of the following three represents girls ?

(A) SQR

(B) QRZ

() saz ¢
(D) Data inadequate

(E) None of these

Ans : (B)

Directions—(Q. 56-65) Study the following information @ and answer the given questions.

For a recruitment process in an organization, the candidates need to possess the following
qualifications/criteria.

(i) A graduate in science with atleast 60% ma

(ii) An age of atleast 25 years and not e tha years as on 1.7.2008.

(iii) Have a post-qualification work experience of atleast 2 years.

(iv) Should have secured SS‘V‘ ction process.

However, if the candidates fulfillsyab mentioned criteria except—

(a) At (i) if the candidate i§nota g ate in Science but has a post graduation degree with minimum of
60% marks, he/she s referred to the HRManager of the organization.

(b) At (iii) if the candi ils all the eligibility criteria but of postqualification work experience but has
secured 75% ma election process, he/she may be referred to the Director of the organization.

formation study carefully whether following candidates are eligible for the
s and mark your answer as follows. You are not to assume anything other than the
rovided in each question. All the cases are given to you as on 1.7.2008.

(A) If the candidate is to be selected.

(B) If the candidates is not to be selected.

(C) If the candidate may be referred to the HR-Manager.
(D) If the candidate may be referred to the Director.

(E) If the data provided is inadequate to take the decision.
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56. Shruti Walia has 4 years of post qualification work experience in a top organization. She has secured
59% marks in the selection process. Born on 5.10.1981, she had completed her Bachelor’s degree in
Physics in 2004 and secured 66% marks in it.

Ans : (A)

57. Pradeep Kumar has 6 years of post qualification work experience. His date of birth is 12.4.1972. He
has secured 58% marks in the selection process. He has completed graduation in Science and scored

76% in it.

Ans : (A)

58. Zaheer Ahmed has completed graduation and post graduate in Economics from Bhag and
has secureds 51% and 68% marks respectively. His date of birth is 26.11.1976. He has he king as
an executive in areputed firm since 2003 till date. He has secured 56% marks in t le process

Ans : (C)

ience,and has secured 57%
, and has a post

59. Harpreet Kaur has done graduation in Physics and is a post graduate
and 65% marks respectively. She has secured 59% marks in the selectio
qualification work experience of 3 years.
Ans : (E)

60. Deepak Agarwal has completed graduation and post gradu
secured 57% marks in the selection process. His date o @

Ans: (E)
61. Varun Arora has secured 79% marks i ionyprocess. He has completed his degree in B.Sc
securing 67% marks in it. His date of birth is 1975)and has a post qualification work experience of

ion in"Geography with 68% and has
111.1979.

one year.

Ans : (D)

62. Varsha Nath’s date of birthgs She has done her graduation and post-graduation in
Commerce and secured 59% an arks respectively. She has a post qualification work experience
as a senior executive of 3§iears an s secured 59% marks in the selection process.

Ans : (C) L 4

of post qualification work experience in a reputed firm. She has done
graduation in scoring 71% marks in it. Born on 22.1.1973, she has secured 53% marks in the

rman has done Grduation in Chemistry and has secured 69% in it. His date of birth is

. He has ranked first in the selection process and has secured 82% marks in it. He has four
months of post qualification work experience.

Ans : (D)

65. Tanya Shetty has been working in a leading organization since the completion of post graduation in
1990. She was born on 1.5.1968. She is a graduate and a post graduate in Science and has secured more
than 60% at both graduate as well as post graduate level. She has secured 71% marks in the selection
process.
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Ans : (B)

66. How many meaningful English words can be made with the letters ODME using each letter only once
in each word ?

(A) None

(B) One

(C) Two

(D) Three

(E) More than three

Ans : (D)

67. How many such digits are there in the number 84315269 each of which is as far a @ the
beginning of the number as when the digits are rearranged in ascending order ?

(A) None

(B) One

(C) Two

(D) Three *

(E) More than three

Ans : (D)

68. Four of the following five are alike in a certain way an a group. Which is the one tthat does
not belong to that group ?

(A) 19

(B) 35

(C) 15 K
(D) 21
(E) 27 Q

Ans : (A)

69. Four of the following five’ ertain way and so form a group. Which is the one that does
not belong to that group ?

(A) Mars

(B) Jupiter 2

(C) Earth

(D) Uranus

(E) Moon

Ans : (E)

70. If ch of the consonants in the word GROUNDS is changed to the next letter in the English
a ich of the following will be the third letter from the right end ?

(A)O

(B)U

(C)s

(D) Vv

(E) None of these

Ans : (A)

71. What should come next in the following letter series ?
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AACACEACEGACEGIACEGI
(A)J

(B) K

(C)A

(D)L

(E) None of these

Ans : (B)

72. How many such pairs of letters are there in the word REFORM each of which has as many s
between them in the word as in the English alphabet ?

(A) None

(B) One

(C) Two

(D) Three

(E) More than three

Ans: (E) ¢

73. In a certain code BOARD is written as ‘53798’ and TRAIN is wri ’. How is BAIT written in
that code ?

(A) 5714

(B) 5412

(C) 5712

(D) 5912
(E) None of these
Ans : (C)

74. ‘BE’ is related to ‘FI’ and ‘LO’ is relat ‘PS%in the same way as ‘RU’ is related to ..........
(A) VY

(B) WZ

(C)vz A4

(D) VX

(E) None of these

Ans : (A) L 2

75. Mohan walked\?2 es towards North, took a left turn and walked 10 metres, then he took a right
turn and wal etres, again he took a right turn and walked 10 metres. How far is he now from the
starting
(A)20.m

(D) Cannet be determined
(E) None of these
Ans : (C)

1. In a certain code DESPAIR is written as TFEQSJB. How is NUMERAL written in that code ?
(A) OVNFMBS
(B) NVOFSBN
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(C) NVOMFBS
(D) NVOFMBS

(E) None of these
Ans : (D)

2. If it is possible to make only one meaningful word with the first, second, sixth and tenth letters of the
word DISCLAIMER, which of the following will be the third letter from the left ? If no such word can be
made, give ‘X’ as your answer and if more than one such words can be made, give ‘Y’ as the answ,

(A)1

(B)R

(C)D

(D) X

(E)Y

Ans : (A)

3. How many such digits are there in the number 27561493 each of whi far away from the
beginning of the number as when the digits are arranged in descendin ithin the number ?
(A) None

(B) One

(C) Two

(D) Three

(E) More than three

Ans : (B)

~

4. If ‘yellow’ is called ‘red’, ‘red’ is called *
called ‘green’, and ‘green’ is called ‘violet’
(A) Green

(B) Violet

(C) Yellow

(D) Red A4

(E) None of these

Ans : (E)

istealled ‘white’, ‘white’ is called ‘black’, ‘black’ is
olour of clear sky ?

*

5. It was 935 a.mi atch, which kept correct time, when Reena informed her that the last bus
left the bus stop m. Reena’s watch is 5 minutes fast. The frequency of the bus is every 20
minutes. For g Rakhi must wait to catch the next bus ?

6. Which of the following should come next in the given sequence of numbers ?
243243124312243123243123

(A) 2

(B)3

(C) 4
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(D)5
(E) None of these
Ans : (C)

7. How many meaningful English words can be formed with the letters EDOM using each letter only
once in each word ?

(A) None

(B) One

(C) Two

(D) Three

(E) More than three

Ans : (C)

8. Four of the following five are alike in a certain way and so form a group. Which'is the'one that does
not belong to that group ?

(A) Nephew

(B) Cousin *

(C) Mother

(D) Brother

(E) Sister

Ans : (B)

9. How many pairs of letters are there in the word h of which has as many alphabets
between them as there are in the English alphabetical, serie

(A) None
(B) Two
(C) Three Q

(D) Four

(E) More than four
Ans : (C) A4
10. In a certain code STAR)is writtenjas 55*2 and TORE is written as $32@. How is OATS written in that
code ? 2

(A) 3*5S
(B) 3*$5
(C) 38*5
(D) 35*S
(E) None of th

Directions—(Q. 11-15) In each of the questions below are given four statements followed by four
conclusions numbered |, II, Il and IV. You have to take the given statements to be true even if they seem
to be at variance from commonly known facts. Read all the conclusions and then decide which of the
given conclusions logically follows from the given statements disregarding commonly known facts.

11. Statements : Some doctors are lawyers. All teachers are lawyers. Some engineers are lawyers. All
engineers are businessmen.
Conclusions
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I. Some teachers are doctors.

Il. Some businessmen are lawyers.
[Il. Some businessmen are teachers.
IV. Some lawyers are teachers.

(A) None follows

(B) Only Il follows

(C) Only Ill follows

(D) Only Il and IV follow

(E) None of these

Ans : (D)

12. Statements : All plastics are glasses. Some sponges are glasses. All sponges are clo @ lothes
are liquids.

Conclusions :

I. All liquids are sponges.

Il. Some plastics are clothes ¢
lIl. All glasses are plastics

IV. All liquids are clothes.

(A) None follows

(B) Only either Il or IV follows

(C) Only IV follows

(D) Only Ill and IV follow

(E) None of these
Ans : (A)

13. Statements : All sands are beaches. All shores arelbeaches. Some beaches are trees. All trees are
hotels.

Conclusions :

|. Some shores are hotels.

IIl. All beaches are shores. ¢

lll. Some beaches are hotels.

IV. Some sands are trees.

(A) None follows 2

(B) Only Il follows

(C) Only either |

ts : All parrots are pigeons. Some crows are pigeons. Some sparrows are crows. All
sparro re koels.

Conclusions :

I. Some koels are crows.

Il. Some parrots are crows.

[Il. Some sparrows are pigeons.

IV. No crow is a parrot.

(A) Only | follows

(B) Only lil follows
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(C) Only I and either Il or IV follow
(D) Only either | or Il follows

(E) None of these

Ans : (C)

15. Statements : All chairs are tables. All tables are cushions. Some cushions are trolleys. All trolleys are
lamps.

Conclusions :

|. Some lamps are tables.

Il. Some trolleys are chairs.

[ll. Some cushions are lamps.

IV. All chairs are cushions.

(A) Only | follows

(B) Only lll and IV follow

(C) Only either | or Il follows

(D) All follow ¢
(E) None of these

Ans : (B)

Directions—(Q. 16-20) Study the following information carefully a nswer the given questions—

A, B,C D, E, F,GandH are eight friends sitting around % table facing the centre. A sits second to
the left of D who is third to the left of E. C sits third F of G who is not an immediate neighbour
of E.

H sits third to the right of B who sits seco ightlef G.

16. Who sits between D and C ?
(A)Only B
(B)OnlyCand A

(C)Only G ¢

(D) Only E

(E)OnlyGand E

Ans : (A) L 2

17. Who sits sec right of E?
(A)B

(B) F

(OG

(D) C

( of these

Ans : (

18. What is the position of A with respect to H ?
(A) Third to the left

(B) Third to the right

(C) Second to the left

(D) Second to the right

(E) Fourth to the left
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Ans : (D)

19. Four of the following five are alike based upon their seating arrangements and so form a group.
Which is the one that does not belong to that group ?

(A) CH

(B) FG

(C) DA

(D) BE

(E) GB

Ans : (C)

20. Which of the following pairs has the second person sitting to the immediate left of @ person ?
(A) DB

(B) EH

(C) FA

(D) GD .

(E) None of these

Ans : (E)

Directions—(Q. 21-25) These questions are based on the follewin ter/number/symbol arrangement.
Study it carefully and answer the questions.
8#B2OEK7%5A15GD94U*C6H@ 13

21. How many such numbers are there in the abov ent each of which is immediately

preceded by a consonant and also follow
(A) None
(B) One < :

(C) Two

(D) Three

(E) More than three
Ans : (D)

\ 4

22. Which of the followi oul@replace the question mark in the following series based on the above
arrangement ?

2EK, %A1, G94, ?

(A)*6H

(B) UCE

(C) *CH

(D) *

( of these

Ans : (

23. Which of the following is the fifth to the left of seventeenth from the left end of the arrangement ?
(A)$

(B)G

QA

(D) D

(E) None of these
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Ans : (E)

24. If all the numbers are deleted from the above arrangement, which of the following will be the
twelfth from the right end ?

(A) %

(B) K

(€ *

(D) C

(E) None of these

Ans : (B)

25. How many such symbols are there in the above arrangement each of which is imm @ preceded
by a number and also immediately followed by a letter ?

(A) None

(B) One

(C) Two

(D) Three *

(E) More than three

Ans : (D)

Directions—(Q. 26—30) Read the following information ¢ | d answer the questions, which follow

‘P + Q" means ‘Pis son of Q.
Q' means ‘P is sister of Q'.[1P x

‘P + Q' means ‘P is brother of Q. K
‘P — Q’ means ‘P is mother of Q'.

R+V <S5 ?0026. How is T related to Siin'the expression ‘T x
(A) Sister
L 2

(B) Mother

(C) Aunt

(D) Uncle \
(E) None of these L 2

Ans : (E)

is T related to S in the expression ‘T x

28. How is S related to T in the expression ‘T+R =V + 5’ ?
(A) Uncle

(B) Nephew

(C) Son

(D) Cannot be determined



55 www.jkchrome.com www.jkchrome.com www.jkchrome.com

(E) None of these
Ans : (D)

29. Which of the following means that ‘S is the husband of T’ ?
(A)TxR=V+S

(B)T-R+VxS

(OOT-R+V=+S

(D)T+RxV+S

(E) None of these

Ans : (C)

30. How is V related to T in the expression T+R+V xS’ ?
(A) Aunt

(B) Nephew

(C) Niece

(D) Uncle ¢
(E) None of these
Ans : (A)

Directions—(Q. 31-35) Each of the questions below consists
numbered | and Il are given below it. You have to decide

(A) If the data in Statement | alone are sufficient to answer
alone are not sufficient to answer the questi
(B) If the data in Statement Il alone are suffi
alone are not sufficient to answer the qgestion.
(C) If the data in Statement | alone of in'Statement Il alone are sufficient to answer the question.
(D) If the data in both the Stat lan re not sufficient to answer the question.

(E) If the data in both the St& Il together are necessary to answer the question.

e question, while the data in Statement ||

wer the question, while the data in Statement |

31. How is A related to B
I. A is sister-in-law of halis th®dadghter-in-law of B who is the wife of D.
II. B is the mother of A only uncle’s son.

32. Amo , E and F each are having a different height, who is the shortest ?
I. Cis sho only B.
LA han only D and F.

33. Point X is in which direction with respect to Y ?

I. Point Z is at equal distance from both point X and point Y.

Il. Walking 5 km to the East of point X and taking two consecutive right turns after walking 5 kms before
each turn leads to point Y.

Ans : (D)

34. How is ‘must’ written in a code language ?
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l. ‘you must see’ is written as ‘la pa ni’ and ‘did you see’ is written as ‘jo ni pa’ in that code language.
II. ‘you did that’ is written as ‘pa si jo’ in that code language.
Ans : (A)

35. On which day of the week does Arti’s birthday fall ?

I. Sonu correctly remembers that Arti’s birthday falls after Wednesday but before Sunday.
Il. Raj correctly remembers that Arti’s birthday falls before Friday but after Tuesday.

Ans : (E)

Directions—(Q. 36—40) Below in each question are given two statements | and Il. These stat
be either independent causes or may be effects of independent causes or a common ca
these statements may be the effect of the other statement. Read both the statements
of the following answer choice correctly depicts the relationship between these t
Mark answer—

(A) If statement | is the cause and statement Il is its effect.

(B) If statement |l is the cause and statement | is its effect. ¢
(C) If both the statements | and Il are independent causes.

(D) If both the statements | and Il are effects of independent caus
(E) If both the statements | and |l are effects of some common

lasses by many schools.

Ans : (B)

37.l. The standard of education in evenin State has been deteriorating.
Il. The standard of school education has beenfast deteriorating in the State.

Ans : (E)

38. I. All domestic airlines inge dithe f n all sectors with immediate effect.

Il. Railways increased the far a es with immediate effect.

Ans : (E)

39. |. The prices of fruits a ve@ta s fell substantially over the last few days.
Il. The quality of fruits etables improved considerably over the last few days.

40. I. Rec the area changed the nutritional contents of the soil.
Il. Farmersi rea switched over to cultivating rice instead of wheat.

Directions—(Q. 41-45) In the following questions, the symbols #, $, %, * and @ are used with the
following meaning as illustrated below

‘A # B’ means ‘A is not greater than B'.

‘A S B’ means ‘A is neither smaller nor equal to B'.

‘A % B’ means ‘A is neither smaller nor greater than B’.
‘A * B’ means ‘A is neither greater nor equal to B’.

‘A @ B’ means ‘A is not smaller than B’.
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Now in each of the following questions assuming the given statements to be true, find which of the two
conclusions | and Il given below them is/are definitely true and give your answer accordingly. Mark
answer—

(A) If only conclusion | is true.

(B) If only conclusion Il is true.

(C) If either conclusion | or Il is true.

(D) If neither conclusion | nor |l is true.

(E) If both conclusion | and Il are true.

41, Statements :
A#B,B%C,C*D
Conclusions :
LC@A

ILA#D

Ans : (A) ¢

42, Statements :
P$Q,Q@S,S%R
Conclusions :
.LP@R

IILRSQ

Ans : (D)

43, Statements : K
W*X X#Y,Y$2Z
Conclusions : < :

LW*2Z
W@z
Ans : (C) A

44, Statements :
G@H,HS$JI%K L 2
Conclusions :

LK*G
nJ*G
Ans : (E)

45, S ts:

N CPHT
Conclu

LT#N

ILP*N

Ans : (B)

Directions—(Q. 46~50) Study the following information carefully and answer the given questions :



58 www.jkchrome.com www.jkchrome.com www.jkchrome.com

A, B, C, D, E, Fand G are seven friends studying seven different branches of engineering, namely
Mechanical, Chemical, Electrical, Electronics, Civil, Computer and Aeronautical Engineering, not
necessarily in this order. Each of them studies in three different colleges, X, Y and Z. Not less than two
study in any college. D studies Electrical engineering in College X. The one who studies Chemical
Engineering does not study in college Z. F studies Aeronautical engineering in college Y with only B. A
does not study in college X and does not study Civil engineering. E studies Computer engineering and
does not study in college X. G studies Electronics engineering but not in college X. None in college X
studies Mechanical or Civil engineering.

46. Which of the following groups represents the persons studying in college Z ?
(A)D, B

(B)C,EG

(OA,G

(D)G, E, A

(E) None of these

Ans : (D) ¢

47. In which of the following colieges does C study ?
(A) X

(B)Y

(c)z

(D) Either X or Z

(E) Cannot be determined

Ans : (A)

48. Which of the following combinations is c ct ?
(A) A—Civil—2

(B) B—Chemical—Y
(C) C—Chemical—2
(D) G—Electronics—Y A4
(E) None of these
Ans : (E)
L 4
49. B studies in which llowing branches of engineering ?
(A) Chemical
(B) Mechanic
(C) Civil
(D) Cannotieb rmined
(E)N ese
A

50. Who studies Chemical engineering ?
(A)B

(B)C

(OE

(D) A

(E) None of these

Ans : (B)
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1. If it is possible to make only one meaningful word with the Third, Seventh, Eighth and
Tenth letters of the word COMPATIBILITY, which of the following would be the last letter of
that word? If no such word can be made, give ‘X’ as your answer and if more than one such
word can be formed, give your answer as ‘Y’.

(A) I

(B) B

L

(D) X

(E) Y

Ans : (B)

2. Four of the following five are alike in a certain way and so form a gro the one
that does not belong to that group ?

(A) Stem

(B) Tree

(C) Root 4
(D) Branch

(E) Leaf

Ans : (B)

3. How many meaningful three letter English word formed with the letters AER,
using each letter only once in each word ?

(A) None

(B) One

(C) Two K
(D) Three Q
(E) Four
Ans : (D) Q

itten .

4. In a certain code FINE.is
How is SLIT written in thatco
(A) UTGR

(B) UTKR

(C) TUGR

(D) RUGT

(E) None of th
Ans : (E)

4

5. If ‘A alled ‘Orange’, ‘Orange’ is called ‘Peach’, ‘Peach’ is called ‘Potato’, ‘Potato’ is
calle ‘Banana’ is called ‘Papaya’ and ‘Papaya’ is called ‘Guava’, which of the
follo ows underground ?

(B)

(C) Apple

(D) Banana

(E) None of these
Ans : (D)

6. If the digits in the number 86435192 are arranged in ascending order, what will be the
difference between the digits which are second from the right and fourth from the left in the
new arrangement ?
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(A) One
(B) Two
(C) Three
(D) Four
(E) None
Ans : (D)

7. Each vowel of the word ADJECTIVE is substituted with the next letter of the English
alphabetical series, and each consonant is substituted with the letter preceding it. Ho
many vowels are present in the new arrangement ?

(A) None

(B) One

(C) Two O
(D) Three

(E) None of these

Ans : (C) 0

8. If in a certain language LATE is coded as 8&4$ and HIRE is s 7*3$ then how will
HAIL be coded in the same language ?

(A) 7&8*

(B) &7*8

(C) 7*&8

(D) 7&*8

(E) None of these

Ans : (D)

9. How many such pairs of letters are,th i rd ENGLISH, each of which has as many
letters between its two letters as their% n them in the English alphabets ?

(A) None

(B) One < ’
(C) Two

(D) Three

(E) More than three ¢
Ans : (E)

10. In a certain cod
very beautiful” and
code for *high’ i
(A) na
(B) ka
(C) bo
(D) s
(E) these
Afsy: (A)

Directions—(Q. 11-15) In each of the questions below are given three statements followed
by two conclusions numbered I and II. You have to take the given statements to be true
even if they seem to be at variance from commonly known facts. Read both the conclusions
and then decide which of the given conclusions logically follows from the given statements
disregarding commonly known facts.

pa ka sof means ‘birds fly very high’, 'ri so la pa’ means 'birds are
eans 'the parrots could fly’. Which of the following is the

Read the statements and the conclusions which follow it and
Give answer—
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(A) if only conclusion I is true.

(B) if only conclusion II is true.

(C) if either conclusion I or conclusion II is true.
(D) if neither conclusion I nor conclusion II is true
(E) if both conclusions I and II are true.

11[Btatements {All stars are suns.
Some suns are planets.

All planets are satellites.
Conclusions :

I. Some satellites are stars.

II. No star is a satellite.

Ans : (C) O
12[Btatements {All fishes are birds. 0

All birds are rats.

All rats are cows.

Conclusions : ¢

I. All birds are cows

II. All rats are fishes

Ans : (A)

13[Btatements { All curtains are rods.

Some rods are sheets.
Some sheets are pillows.
Conclusions :
I. Some pillows are rods.

II. Some rods are curtains.

Ans : (B)
14 Btatements { Bome walls are windo
Some windows are doors.

All doors are roofs.
Conclusions :

I. Some doors are waIIs.
II. No roof is a windo

Ans : (D) 'S

Conclu
I. Some are plugs.
II. S ugs are switches.

Directions—(Q. 16-20) Study the sets of humbers given below and answer the questions,
which follow
489 - 541 - 654 - 953 - 983

16. If in each number, the first and the last digits are interchanged, which of the following
will be the second highest number ?

(A) 489

(B) 541
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(C) 654
(D) 953
(E) 783
Ans : (C)

17. If in each number, all the three digits are arranged in ascending order, which of the
following will be the lowest number ?

(A) 489

(B) 541

(C) 654

(D) 953

(E) 783

Ans : (B)

18. Which of the following numbers will be obtained if the first digit of I@ er is
ch

subtracted from the second digit of highest number after adding one to the numbers
?

(A) 1 @ IS
(B) 2
(C) 3

(D) 4
(E) S5
Ans : (A)

19. If five is subtracted from each of the num of the following numbers will be
nd =

the difference between the second digit of s st number and the second digit of

the highest number ?

(A) Zero

(B)3

O

(D) 4
(E) 2
Ans : (B) ¢

20. If in each number the first\and the second digits are interchanged, which will be the
third highest number ? 'S

(A) 489

(B) 541

(C) 654

(D) 953

(Q. 21-25) Read the following information carefully and answer the questions,

‘A - B’ means ‘A is father of B’

‘A + B’ means ‘A is daughter of B’
‘A + B means ‘A is son of B’

‘A x B’ means ‘A is wife of B’

21. Which of the following means P is grandson of S ?
(A)P+Q-5S
B)P+QxS
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(OOP+Q+S

(D)PxQ+S

(E) None of these

Ans : (C)

22. How is P related to T in the expression'P + S - T' ?
(A) Sister

(B) Wife

(C) Son

(D) Daughter
(E) None of these

Ans : (A)

23. In the expression 'P + Q x T" how is T related to P ? O
(A) Mother 0

(B) Father

(C) Son

(D) Brother ¢

(E) None of these

Ans : (B)

24. Which of the following means T is wife of P ?
(AP xS +T

(B)P+SxT O
(C)P-S=T
(D)P+T=+S K

(E) None of these

Ans : (E)

25. In the expression ‘P x Q - T" how is tedto P ?
(A) Daughter

(B) Sister

(C) Mother ¢

(D) Can't be determined
(E) None of these
Ans : (D) 'S

— each of these questions a group of letters is given followed by
o mber/symbollettered {A), (B), (C) & (D). Letters are to be coded

Directions—(
four combinatio

as per the s and conditions given below. You have to find out the serial letter of the
combin represents the letter group. Serial letter of that combination is your
answer. of the combinations is correct, your answer is (E) i.e. None of these :

MSINGDKALPRBIJE
Numbep/ Symbol# TV @4 # % $612£5*983

Conditions :

(i) If the first letter is a consonant and the last a vowel, both are to be coded as the code of
the vowel.

(ii) If the first letter is a vowel and the last a consonant, the codes for the first and the last
are to be interchanged.

(iii) If no vowel is present in the group of letters, the second and the fifth letters are to be
coded as ©.
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26. BKGQIN

(A) 9©%$70%

(B) ©9%$7%©
(C) 91$78%

(D) %1$789

(E) None of these
Ans : (A)

27. 1IBRLG
(A) #89%£$

(B) #89*£+#

(C) $89*£#

(D) $89%*£$

(E) None of these

Ans : (C) 0
28. BARNIS X3

(A) 92*#%4

(B) 924#*%

(C) 92*#%9
(D) 42*#%4
(E) None of these

Ans : (E) O
29. EGAKRL

(A) #£$21%

(B) £421%3

(C) £$21%#

(D) #£$21# < : '

(E) None of these
Ans : (B)

30. DMBNIA

(A) 6@9%+#2

(B) 2@9%+#6 'S
(C) 2@9%+#2

(D) 209%+#2

(E) None of the

Ans : (C)

Directi — 31-35) Study the following information carefully to answer these

s A, B, C, D, E, F, Gand H work for three different companies namely X, Y and
Z. No re than three persons work for a company. There are only two ladies in the group
who have different specializations and work for different companies. Of the group of friends,
two have specialization in each HR, Finance and Marketing. One member is an engineer and
one is a doctor. H is an HR specialist and works with a Marketing specialist B who does not
work for company Y. C is an engineer and his sister works in company Z. D is a specialist in
HR working in company X while her friend G is a finance specialist and works for company
Z. No two persons having the same specialization work together. Marketing specialist F
works for company Y and his friend A who is a Finance expert works for company X in which
only two specialists work. No lady is a marketing specialist or a doctor.
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31. For which of the following companies does C work ?
(A)Y

(B) X

() z

(D) Data inadequate

(E) None of these

Ans : (A)

32. Which of the following represents the pair working in the same company ?
(A)Dand C

(B Aand B
(CO)AandE O
(D)Hand F
(E) None of these

Ans : (E) 0

33. Which of the following combination is correct ? ¢
(A) C-Z-Engineer
(B) E-X-Doctor

(C) H-X-HR
(D) C-Y-Engineer
(E) None of these

Ans : (D) O
34. Who amongst the friends is a doctor ?

(A) H

(B) E

(©)C

(D) Either Eor C Q

(E) None of these
Ans : (B

(B) .
35. Which of the following pairs resents the two ladies in the group ?
(A)Aand D
(B) Band D TS
(CO)Dand G
(D) Data inade
(E) None of the

Directi 36-40) In each of the questions given below which one of the five answer
figur he right should come after the problem figures on the left, if the sequence were
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(C)37. (E) 38. (D) 39.
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